

## REPUBLIC OF THE PHILIPPINES Department Of Health



## National Center for Mental Health

## **NOTICE OF AWARD**

January 23, 2023

## **BNAR ENTERPRISES**

1671 Antonio Rivera St., Cor. Quircada St., Tondo Manila Tel No.: 8354-0964; 8734-0579; 8425-4582; 0922-8800077

Email: bnar.sales@gmail.com bnar\_ent@yahoo.com

Sir / Madam:

Please be advised that based on the results of the **Public Bidding** conducted by the National Center for Mental Health for the **Supply and Delivery of Medical Supplies CY 2023**, the following item/s is hereby awarded to your company:

NO.	ITEM DESCRIPTION	ITEM CODE	QTY	UOM	UNIT PRICE	TOTAL PRICE
1	Bedpan, Plastic Country of origin: China	MS-006	50	pcs	52.88	2,644.00
2	Diaper, disposable, LARGE. Super absortbent layer; flexible waist band and has standing leak guard to prevent side leakage. High speed channel to spread the liquid faster. Made of high class non-woven material to avoid seepage and maintain dryness of the skin. Refastening and adjustable frontal tape. Country of origin: China	MS-016	13,000	piece	15.24	198,120.00
3	Endotracheal tube 6.5 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).  Country of origin: China	MS-021	30	piece	19.88	596.40
4	Endotracheal tube 7.0 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	MS-022	100	piece	19.88	1,988.00
5	Endotracheal tube 7.5 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque	MS-023	100	piece	19.88	1,988.00

"There is no Health without Mental Health"







	(with at least 24 months expiration). Country of origin: China					
6	Endotracheal tube 8.0 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).	MS-024	30	piece	19.88	596.40
7	Endotracheal tube 8.5 high volume, low pressure, blue line design, very smooth murphy eye, very smooth edge to avoid trauma, with cuff, size markings of ET Tube in pilot balloon, non pyrogenic, Radio-Opaque (with at least 24 months expiration).  Country of origin: China	MS-025	30	piece	19.88	596.40
8	Infusion set, ADULT, vented type (air cap) / 20 macrodrops/mL/y-injection port/rubber/ 215 cm length, with luer lock (with at least 24 months expiration).  Country of origin: China	MS-046	10,000	piece	8.69	86,900.00
9	Infusion set, PEDIA, vented type (air cap) / 60 microdrops/mL/y-injection port/rubber/ 195cm length, with luer lock (with at least 24 months expiration).  Country of origin: China	MS-047	1,200	piece	8.76	10,512.00
10	Nasal cannula for oxygen, ADULT, made from nontoxic PVC compound, 1.8 meters of non-kink star lumen PVC tubing, nasal prongs made of soft PVC (with at least 24 months expiration) Country of origin: China	MS-060	1,000	piece	9.98	9,980.00
11	Nasal cannula for oxygen, PEDIA, made from nontoxic PVC compound, 1.8 meters of non-kink star lumen PVC tubing, nasal prongs made of soft PVC (with at least 24 months expiration)  Country of origin: China	MS-061	50	piece	9.98	499.00
12	Nasogastric tube (NGT) Duodenal tube, Fr. 16, individually pack, sterilized by EO gas, pyrogen free (with atleast 24 months expiration).  Country of origin: China	MS-062	1,000	pcs	6.74	6,740.00
13	Nasogastric tube (NGT) Duodenal tube, Fr. 14, individually pack, sterilized by EO gas, pyrogen free (with atleast 24 months expiration). Country of origin: China	MS-063	200	piece	6.74	1,348.00
14	Nasogastric tube (NGT) Duodenal tube, Fr. 12, individually pack, sterilized by EO gas, pyrogen free (with atleast 24 months expiration). Country of origin: China	MS-064	150	piece	6.74	1,011.00
15	Nasogastric tube (NGT) Duodenal tube, Fr. 5, individually pack, sterilized by EO gas, pyrogen free (with atleast 24 months expiration). Country of origin: China	MS-065	20	piece	6.74	134.80
16	Nasogastric tube (NGT) Duodenal tube, Fr. 8, individually pack, sterilized by EO gas, pyrogen free (with atleast 24 months expiration). Country of origin: China	MS-066	20	piece	6.74	134.80
17	Oxygen Mask, under the chin style, medium concentration mask with 7ft. (84") tubing for single patient. (ADULT) (with atleast 24 months expiration). Country of origin: China	MS-076	600	piece	18.88	11,328.00
18	Oxygen Mask, under the chin style, medium concentration mask with 7ft. (84") tubing for single patient. (PEDIATRIC) (with atleast 24 months expiration). Country of origin: China	MS-077	50	piece	22.92	1,146.00

			Western 197	TOTAL	MOUNT:	₱ 1,490,277.34
	heavy weight cast.(with at least 24 months expiration). Country of origin: China		300	1011	24.33	12,493.00
33	Orthopedic Padding (Undercast Padding) 4"x5m yard/roll. Pure plaster for light and	MS-154	500	roll	24.99	12,495.00
32	Country of origin: China Guedel oral airway, size 6 Country of origin: China	MS-145	20	piece	19.14	382.80
31	Guedel oral airway, size 5	MS-144	20	piece	19.14	382.80
30	Guedel oral airway, size 4	MS-143	30	piece	19.14	574.20
29	expiration). Country of origin: China  Guedel oral airway, size 3  Country of origin: China	MS-142	30	piece	19.14	574.20
28	Volumetric Solution Infusion Set (Soluset) attached injection set on at least 100 mL burette made of PVC, non-toxic resin, sterilized by EO gas, non-heavy metal & pyrogen free w/ built in float valve interrupts the fluid path, with y-injection port, 60 microdrops/ml (with at least 24 months	MS-118	1,200	piece	31.78	38,136.00
27	Underpads Super Dry, 60x90cm, disposable. (with atleast 24 months expiration). Country of origin: China	MS-115	10,000	piece	8.16	81,600.00
26	Thermometer, digital - High accuracy, fast response, auto shut-off, alarm signal, break resistance. Country of origin: China	MS-112	500	piece	33.33	16,665.0
25	Syringes, disposable, 30cc, with luer lock, sterilized by EO gas, non-toxic, non-heavy metal and pyrogen-free, no air-leakage, needle must be sharp and sturdy. (with at least 24 months expiration).  Country of origin: China	MS-103	100	piece	5.88	588.00
24	Syringes, disposable, 1cc, with needle G.26 x1/2 inch, slip tip, sterilized by EO gas, nontoxic, non-heavy metal and pyrogen-free, no air-leakage, needle must be sharp and sturdy. (with atleast 24 months expiration).  Country of origin: China	MS-102	14,000	piece	1.34	18,760.00
23	Surgical Gown (FREE SIZE), 60GSM, disposable, non-woven fabric, anti-water, anti-blood, anti-alcohol, anti-static, light color only. Country of origin: China	MS-095	41,000	piece	23.97	982,770.00
22	Suction catheter, Fr. 18 with control & cap, transparent, individually pack, sterilized by EO gas, non-toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration). Country of origin: China	MS-094	20	piece	3.98	79.60
21	Suction catheter, Fr. 16 with control & cap, transparent, individually pack, sterilized by EO gas, non- toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration). Country of origin: China	MS-093	153	piece	3.98	608.94
20	Suction catheter, Fr. 14 with control & cap, transparent, individually pack, sterilized by EO gas, non-toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration). Country of origin: China	MS-092	50	piece	3.98	199.00
19	Suction catheter, Fr. 12 with control & cap, transparent, individually pack, sterilized by EO gas, non-toxic, non-heavy metal, non-pyrogenic (with at least 24 months expiration).	MS-091	50	piece	3.98	199.00

You are hereby required to submit the following within ten (10) calendar days:

 Contract Agreement Form (Legal Size) for the Public Bidding for the Supply and Delivery of Medical Supplies CY 2023

NOTE: The signatory shall be NOEL V. REYES, MD, FPPA, MMHoA, MEDICAL CENTER CHIEF II; and

- Notarized Performance Securing Declaration; or
- Performance Security in any forms and amount stipulated below:

Α.	Cash or Cashier's / Manager's Check Bank	Five Percent (5%) of the Total Contract Price			
	Guarantee				
В.	Surety Bond callable upon demand issued	Thirty Percent (30%) of the Total Contract			
	by a surety or insurance company duly	Price			
	certified by Insurance Commission / GSIS				

Failure to provide any of the above-mentioned requirements shall constitute sufficient grounds for cancellation of this Award and forfeiture of the Bid Security.

Truly yours,

NOEL V. REYES, MD, FPPA, MMHoA

Medical Center Chief II

**CONFORME:** 

Authorized Representative

2-3-23

Date and Time